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1. Identify the property by which the two given triangles are congruent

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency

2. ldentify the property by which the two given triangles are congruent
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(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) SAS Congruency

3. Identify the property by which the two given triangles are congruent

A O

(i) SAS Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency

Identify the property by which the two given triangles are congruent

E F N o

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) RHS Congruency



. Which of the following are true?

a) Any two circles are similar.

b) Any two triangles are congruent.
¢) Any two circles are congruent.
d) Any two squares are similar.

e) Any two squares are congruent.
f) Any two triangles are similar.

(i) {a,d} (i) {c,d} (i) {b,d,a} (iv) {b,a} (v) {efa}

. Which of the following are true?

a) A square is a polygonal region.

b) A circle is a polygonal region.

c) A semi-circle is a polygonal region.
d) A sector is a polygonal region.

e) A triangle is a polygonal region.

(i) {d,b,a} (i) {a,e} (i) {c,e} (iv) {c,e,a} (v) {b,a}

. Which of the following are true?

a) Similar and congruent are not synonymous.
b) If two figures are congruent, then they are similar too.

d) Congruent figures have same area.

)
)
c) Similar figures have same area.
)
e) If two figures are similar, then they are congruent too.

(i) {a,b,d} (ii) {c,a,b} (iii) {c,e,d} (iv) {e,b} (v) {ca}

. Which of the following are true?

a) Area of the union of two polygonal region is the sum of the individual area.

b) Area of a convex polygonal region is equal to the sum of the areas of all triangles formed by joining the vertices
of the polygon with an interior point.

c) A polygonal region can be divided into a finite number of triangles in a unique way.

d) Area of the union of two polygonal region is not equal to the sum of the individual area.

(i) {a,c,b} (i) {a,b} (i) {b,d} (iv) {a,d,b} (v) {cd}

In the given figure, the area of the AEFG is x sq.cm. H,l,J are the mid-points of the sides FG , GE and EF
" respectively. The area of the AHIJ is
E
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(i) — of area of AEFG (ii) -40farea of AEFG (iii) -20farea of AEFG (iv) 3ofarea of AEFG
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10 If the ratio of the bases of two triangles is C : D and the ratio of the corresponding heights is E : F, the ratio of
" their areas in the same order is

(i) EF:CD (ii) DE:CF (iii) CF:DE (iv) CE:DF (v) CD:EF

11 In the given figure, points E , F and G are the mid-points of sides CD, DB and BC of ABCD. Which of the following
" are true?

Area of ABCD = 4 times area of AEFG
Area of trapezium CDFG is thrice the area of ABGF
All four small triangles have equal areas

a
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Area of ABCD = 3 area of AEFG

e) 1
Area of trapezium CDFGis 1 the area of ABCD
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(i) {a,b,c} (ii) {eb} (i) {d,ec} (iv) {d,ab} (v) {da}

In the given figure, points M, N and O are the mid-points of sides KL, L] and JK of AJKL. Which of the following are

12.
true?

a) AJON = AMNO
b) AOKM = AJON
c) AJON = AMON
d) AOKM = AMNO
e) AJON = ANML
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(i) {c,d} (i) {c,e,a} (iii) {c,a} (iv) {c,b} (v) {a,b,d,e}

13. In the given figure, which of the following is true?
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(i) ADEF = ATSR (ii) ADEF = ASTR (iii) ADEF = ATRS (iv) AEFD = ARST (v) ADEF = ARST



14. In the given figure, AEFG = ASRQ. Which of the following are true?

a) LS =179°
b) LR = 59°
c) £LQ =59°
d) LR = 42°
e) LQ =79°
f) LS =42°
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(i) {f,b,d} (i) {e,c} (i) {a,c,d} (iv) {b,a} (v) {e,a,c}

15. In the given figure, AABC = ARST. Which of the following are true?

a) TR=14cm
b) ST=11cm
c) RS=11cm
d) TR=15cm
e) ST=14cm
f) RS =14 cm
A
=
£ &
= g
5
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(i) {c,d} (i) {eaf} (i) {ab} (iv) {b,df} (v) {cb,d}

16. In the given figure, which of the following is true?
M L

(i) AIML = AJKL (ii) AJML = AKL) (iii) AJLM = AJKL (iv) AJLM = ALK (V) AJLM = ALK



17. With the data in the given figure, AEFH = AEGH by which property?

E
F—I\\
H G

(i) ASA Congruency (ii) not congruent (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency
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18. With the data in the given figure, AOED = AOCB by which property?

E D
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) RHS Congruency (v) ASA Congruency

19. With the given data in the figure, AEDG = AFCG by which property?
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(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) ASA Congruency

20. With the given data in the figure, ADEF = AFGD by which property?
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(i) RHS Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency




21. With the given data in the figure, AABC = ADCB by which property?
A D

B C

(i) not congruent (ii) SAS Congruency (iii) RHS Congruency (iv) SSS Congruency (v) ASA Congruency

22. With the given data in the figure, AVEF = AUFE by which property?
D

E F

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

23. With the data in the given figure, AILO = AJKO by which property?
L K

| J
(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

24. With the data in the given figure, AEHG = AEFG by which property?
G
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency



25. With the data in the given figure, AWRS = AVSR by which property?
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(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

26. With the data in the given figure, ASEF = ATFE by which property?
5 T

E F

(i) RHS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) SAS Congruency (v) not congruent

27. In the given figure, AIGH is an isosceles triangle. F) L GH passing through I. AFIG = AFIH by which property?
F
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent

28. In the given figure, ABCD is a square and ATAB is an equilateral triangle. ATDA = ATCB by which property?

D c
T

A B

(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency



29. With the data in the given figure, ABCE = ABDF by which property?

>m

E C D F

(i) SSS Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) not congruent

30. With the data in the given figure, ABEC = ABED by which property?
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(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency

31. With the data in the given figure, ACED = ADFC by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) RHS Congruency (v) SSS Congruency

32. With the data in the given figure, AABE = AACD by which property?
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(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent



33. In the given figure, AGHI is an obtuse angled triangle. AGH) = AIH] by which property?
G
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(i) not congruent (ii) SAS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency

34. With the data in the given figure, ADOE = ADOF by which property?
D

E F

(i) SAS Congruency (ii) ASA Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency

35. With the data in the figure, AADB = ACDB by which property?
A

B =

(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

36. With the data in the figure, ACFD = ACFE by which property?
C

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency



37. With the data in the figure, ABEC = ADEC by which property?
E
> :
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(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent

m

38. With the data in the figure, AABD = AACD by which property?

A
r&
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(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

(o)

39. With the data in the figure, AlL) = AJKI by which property?
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(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

40. With the data in the figure, AKNL = AKNM by which property?
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(i) ASA Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency




41. With the data in the figure, AHOI = AKOJ by which property?
K J

T

(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SAS Congruency

42. With the data in the figure, AFGI = AGFH by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

43. With the data in the figure, AFHI = AHFG by which property?
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(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

44, With the data in the figure, ADGE = ADGF by which property?
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(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency (v) not congruent

45. With the data in the figure, AGJH = AHIG by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency



46. With the data in the figure, AFOG = AHOI by which property?
! H
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) not congruent (v) SSS Congruency

47. With the data in the figure, AEOF = AGOH by which property?
H G

E F

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) RHS Congruency (v) not congruent

48. With the data in the figure, AGH] = AHGI by which property?
F

G H

(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) not congruent

49. With the data in the figure, AlJL = AMKL by which property?
|

(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent



50. With the data in the figure, AJKM = ALKM by which property?
J
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(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

51. With the data in the figure, AHIL = AIHM by which property?
K J

H |

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

52. With the data in the figure, ACEF = ACED by which property?
F
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(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent

53. With the data in the figure, AIML = AJMK by which property?
L

| ]
(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency



54. With the data in the figure, AOPS = AOQT by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency

55. With the data in the given figure, APQS = ARQS by which property?
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(i) RHS Congruency (ii) not congruent (iii) SAS Congruency (iv) ASA Congruency (v) SSS Congruency

56. With the data in the given figure, AMNP = ANMO by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SAS Congruency



57. With the data in the given figure, ALMO = ANOM by which property?
N
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

58. With the data in the given figure, ALMO = ANMO by which property?
N

L M

(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

59. In the given figure, which pair of triangles are not congruent ?

D

fig 3 fig 4
1 1 /A /A
IT I [ [
figl fig 2

(i) fig3 (i) fig1 (iii) fig4 (iv) fig2



60. In the given figure, which pair of triangles are not congruent ?

fig 3 fig 4

=
—

figl fig 2

(i) fig4 (i) fig2 (i) fig3 (iv) fig 1

61. In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
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figl fig 2

(i) fig1 (i) fig4 (iii) fig3 (iv) fig2
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1) (iii) 2) (i) 3) (ii) 4) (iv) 5) (i) 6) (ii)
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